
Analysis #1.  Due 9/21 in class 
 
Directions:  Identify each of the following as an argument or an explanation, and rationally 
reconstruct them exactly as we have been doing in class.  This assignment is worth 10 points.  
Type in the text boxes provided.  If you experience technical problems, then for this assignment 
only, you may write by hand.  However, it will be graded only if the handwriting is perfectly legible. 
 
1.  Ricardo doesn’t eat tuna sandwiches because he doesn’t like bread. 
 

Ricardo doesn’t eat tuna 
sandwiches. 

Ricardo doesn’t like bread. 

Explanation 

2. You have to help him now because you promised you would.  

3.  Ziggy was arrested for talking on his cell phone while driving. 

Butch has to help Brian. Butch said he would help 
Brian. 

Argument 

Ziggy was arrested. Ziggy was talking on his 
cell phone while driving. 

Explanation 
 

 
4.  The reason I think I didn’t evolve from apes is that I can reason well and apes 
can’t reason at all.   

Sammy didn’t evolve from 
apes. 

Sammy can reason well 
and apes can’t.  

Argument 

5.  I think the cops tasered the student because he had halitosis. 

The police tasered the 
student. 

The student had halitosis. 

Explanation 

 
 



6.  Most people will just believe what they’re told.  It saves a lot of energy. 

Most people believe what 
they are told. 

It saves people energy to 
believe what they are told. 

Explanation 

 
 
7.  I think it’s ok to cheat when everyone else is cheating, too.  But I don’t do it 
because it still makes me feel guilty. 

Bob won’t cheat. Bob feels guilty when he 
cheats. 

Explanation 

 
 
8.  I don’t believe in instantaneous velocity for the same reason I don’t believe in 
square circles.  The idea just doesn’t make any sense. 

There is no such thing as 
instantaneous velocity. 

The concept of 
instantaneous velocity 
makes no sense.

Argument. 

 
 
9.  If I could go back in time I would probably want to kill my great grandpa Hitler. 
But I wouldn’t because that means I’d never be born. 

 

Mike wouldn’t kill his Grandpa 
Hitler if Mike went back in 
time.

Killing his Grandpa would 
prevent mike from being 
born.

Explanation

 
10.  Basil has asked Barbara to go out with him about 100 times and she’s 
always said no.  I would think that means she’s due to say yes pretty soon. 

Barbara will agree to go out 
with Basil soon. 

Barbara has always 
refused to go out with Basil 
in the past. 

Argument 

 


